Referéncia: Serway

Appendix A

TABLE A.l1 Cooversion Factors

Length
i =111 km in. f mi

1 meter 1 10# 1077 39,37 3281 G204 X 10
1 wentimeler 107 1 10-% 0.3537 3281 X107 6214 X 107"
1 kilometer 12 10® 1 3,837 X100 3,281 X 1P 06214
1 ineh 2.540 X 107% 2.540 2540 X 10 1 RS 1,578 = 1078
1 Foot 03048 a0, 48 3048 = 104 12 1 1,564 = 10
1 mile 160% 1.608 x 10° 1,609 £, b6 10 SEH 1

Mass

kg B slug 1

1 kilogram 1 10* 6852 X 107 6.024 X 10™
1 gram 13 1 G852 % 107 &.024 X 1022
I dug m'.h'lﬂ::l 14.5% 1.459 = 104 1 8. 789 = 10
1 atomic mass nnit 1660 X 10727 660 * 10724 1137 = 107 1

Timae

[ i h day year

I second 1 1667 > 107 Z77TAX 107 L1567 X 10—* 3.169 X 10—
1 minate [i1] 1 LBGET ¥ 1071 8,994 ¥ 1074 1.901 = 1i*
1 howr A600 i 1 4167 = 100" 1141 % 1
1 day 5640 % 104 1440 24 1 2.738 X 10r?
1 year 3156 % 107 B.25O X 10" 8766 X 107 3652 1

Speed

mys cms fi/s il

1 meterfsecond 1 L 3,281 2.227
1 centimetersecond 10 1 3.281 X 10 2.237 X 10#
1 Fueslfsecomnd 03048 30,45 1 06818
1 mile/hour 0.4470 44.70 1,467 1
Mot | mifmin = 60 mijh — &8 fifs.

Force

N dyn 1k

1 menactan ] 1os 0.2248
1 dyne 1 1 2.24R X 108
1 pound 4448 4,448 X 1P 1




TABLE A.l  (Continued)
Work, Encrgy, Heat
1 eIg ft-1b
1 joule 1 107 0.7376
1 erg 107 1 TATE X108
1ft-1h 1.356 1.356 x 107 1
1 eV 1.602 x 1019 1.602x 10712 1.182 = 10-2®
1 cal 4 186 4.186 % 107 3.087
L Btu 1.053 = 107 1055 X 10 7.9 X 107
1 kwh 3.600 » 109 3.600 x 10 2,655 x 10°
eV cal Btu kWh
1 joule 6G.242 ¥ 1048 0. 2384 0451 X 1074 2778 > 1077
1erg 6.242 X 10! 2.389 X 10°® 9.481 X 10711 2778 X 10714
11t-1b 5.464 2 118 0.3254 1. 255 x 1073 3.766 X 1077
1eV 1 3827 X 107% 1.519 X 107* 4 450 X 107
1 cal 2.613 x 10® 1 J.968 x 1073 1.163 = 10°%
1 Blu 6,585 x 10® 2,520 X 10 1 2.930% 1074
1 kWh 2247 » 1025 B.601 x 10° 3413 %100 1
Pressure
Fa ~dyn/em® atm
1 paseal 1 10 o869 X 10°®
1 dyne/centimeter® 1071 1 9,869 x 1077
1 atmosphere 1.013 x 10% 1,013 10¢ 1
1 centimeter mercury® 1.333 = 10% 1.333 2 104 1.316 = 10°®
1 pound/inch? f.845 X 10° B.RGE X 1M 6.805 = 1078
1 pound /foot? 47.88 4,788 % 102 4,723 X 10~4
cm Hyg Ihfin® Ih,/ft*
1 newton/meter? T.501 X 10 1.450 = 104 2,089 % 102
1 dyne/centimeter® 7.501 % 1078 1.450 X 1075 2085 x 107
1 atmosphere i 14.70 2,116 % 109
1 centimeler mercury® 1 01445 27.55
1 pound/inch® 5.171 1 144
1 pound,foot® 3.5491 X 107F 6944 X 1073 1

® At 0°C and ar a location where the acceleration due to gravity has its “standard’™ value,

S.ANERS m/s".



